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Since x is in IlIrd quadrant, sinx is negative.
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sinx = 3 Xisin IInd quadrant.
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Since x is in IInd quadrant, cosx is negative.
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tanx=T cosecx—g, secx = —, cotx = —,
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cotx = 70X lies in third quadrant.

We have, cosec’x —1=cot®x
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cosecx =—-; since x is in third quadrant,
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4, secx= 1521 x is in IVth quadrant,
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- 1+tan’x=sec’x = tan’ x =sec’x—1
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But tanx = = since x is in the IVth quadrant.
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5. tanx =-— xisin [Ind quadrant.
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But secx = _1—2, since X is 1n II¢ quadrant.
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COSECX = -15—3, cotx‘=,——12

6. sin 765° = sin(2 x 360° + 45°) = sin(4n + 45°)

= sin'45° = L
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7. cosec(—l410°) =— cosec(1410°)
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= _cosec(3 x 360°+330°) =— cosec(6m + 330°)
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= — (- cosec30°) = cosec30° = 2,
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. sSin(g -2) = cos ry (- sin( T +2L) = c_<.3.s X
Z-cos(L-a) =5iNZL & co5( W 4a) = "a\fLZL
3-tan (T —x) - cokx 3dan (1 + %) = ~€O 9;
4 cosec(W -x) zsecz | *cosec(d x) = sec -
> sec(q-x) - cosec 5. sec (4 +2) =-c05€
6- ok (T-2) =dan x imi-ncil—.“@}fz_) = -lan=
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|TZ€”CTT—:L) _ sinx ; Ve Sin(TH+=x) = —9101
2.c08(M-x) = —CcOS X | 2-cos(T+x) = -<OS*

3.ddn(w-x) = —~lana | 3« bap (=) = 4Hnx
4 cogeLC‘[T—’:L) = COSCC DC_? 4 » cosec (T4 L) =—cosec=*
5. coc (AT-xD=-Sx X | 6. scC (M+x) = -seC L

. (,QE Cr—l) :——c.o!;cc!% 6- cokbGr+x) = cokx
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sm(zﬂ'_x) - —cosx . gm(?W.Hz) .-(',osi»
2:C05(W-x) = =Snx | - 2 S(AM4z) = ginat

l—i-- COSQC(EZIF_%) = —eCCc A | 4+ CDSECVC'E”E:.FJQ = =5&C X
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z-m(gg'_x) — cok = \3' 4an (i}f-fx) = —cob=x
5.¢0¢ (W.2) - -cose¢;a:1 5. ecc (U 42) - cosec
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| Fosmaﬂq for C;mj,Lj chmaQC\ 1C0"0’ CQT{;PJLJM%--‘~1,
ein(2m-x) - _sinx f"sm(aW»ix): Sina T
&-coS(QM-z) = cos | B COS(AT 44) = COS &
3:4an (g1-%) = -tanz | 3+ tan(amra) = tanx

4-cosec (gM-x) = -cOSCcx | 4~ cosec (QTi+L) = CoSE X
5.5eC (8M-x) = gec X | S- SCc (U4 x) = Sec x
6 cok(qr-2) = -cok z i &. ob(mpm+2) =cokx
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Sin -6
Cos — 8
Ton € =

= -SGin &

~Tan 6
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sip : tve
CQS5 & =Ve

tan ¢ Ve
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